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(4x — H)(5x* + x + 5)+ Bx + 1)(dx — 3)

(2x — 5)(3x— 5)(6x + 1)

(2x — 3)(2x + 1)(6x — 5)

(2% = 3)dx— 1) +2 +x—1

(2x— 1)(3x+ 6)(5x + 5)

Sx+ (4 — 6x)(5x + 6)(6x — 2)

(6x° — 6)(2x +4) — 3 +x 2

(x— 5)(2x° + 6x + 2) + (5x + 6)(2x + 5)

(4x — 3)(6x — 3)(4x — 6)

(2% — 4x + 6)(6x + 6) — 2x — 6
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(4x — 4)(5:x> + x + 5) + (3x + 1)(4x — 3)
20x° — 4 + 11x— 23

(2x — 5)(3x— 5)(6x + 1)
36x° — 144x% + 125x + 25

(2x — 3)(2x + 1)(6x — 5)
24x° — 44x% + 2x + 15

(2% = 3)(Ax— 1)+ +x—1
8 — % — 1lx+2

(2x — 1)(3x + 6)(5x + 5)
30x° + 75x” + 15x — 30

Sx+ (4 — 6x)(5x + 6)(6x — 2)
—180x° — 36x” + 181x— 48

(6x% — 6)(2x+4) — 3% +x—2
1202 4 213% — 11x— 26

(x— 5)(2x% + 6x+ 2) + (5x + 6)(2x + 5)
2 + 6x% + 9x + 20

(4x — 3)(6x — 3)(4x — 6)
96x° — 264x° + 216x — 54

(2% — 4x + 6)(6x + 6) — 2x — 6
126 — 1222 + 10x + 30
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